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1: int 1 = 0, buf[15]
2: while (...)

3:

4: 1++

5: buf[i]
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»int i = 0, buf[15]
+ while (...)

1++
buf[i]
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No threshold Threshold

int i = 0, buf[15]
: while (...) // [0, +00)
if (i == 10
break // [10, 10]
else { } // [0, +00)
1++
buf[i] // [0, +00)

[0, 10]

[10, 10]
[0, 9]

[0, 10]
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No threshold Threshold

1: int i = @, buf[15]
2: while (...) // [0, +00)
3: if (i == 10)

4: break // [10, 10]
5: else { } // [0, +00)
6: i++

7: buf[il // [0, +00)

[0, 10]

[10, 10]
[0, 9]

[0, 10]
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No threshold Threshold
1: ant i = 0, bufl6] = {1,2,3,1,2,3}
2: while (...)
3: i = bufli] // [0, +o00) [0, 3]



No threshold Threshold

T2 e Azt aE Azt
gzip 444 1.40 433 2.12
bc 610 5.75 586 80.22
chess 2081 5.13 1496 9.04
grep 088 1.84 086 2.18
tar 1292 5.88 1284 8.01
less 1718 53.41 1716 63.38
make 2136 35.25 2136 42.14
euler 4479 18.89 4473 20.32
wget 1518 11.73 1518 15.44
screen 7634 816.80 7622 858.39
fluidsynth 1192 3.57 1192 4.89
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